
 


02.  
 

 
1. “”

.  
A.  
2. A,B s-t 
 
 
                                             
                                                              
A.  = దూరం

ĥాలం
 =  

         
    ‘A’ 
‘A’  
3.   n


A. ‘t’  

S = ut + ଵ
ଶ
at2 

     ‘n’   

Sn = un + ଵ
ଶ
an2 

     ‘(n-1)’  

          Sn-1 = u(n-1) + ଵ
ଶ
a(n-1)2 

                Sn-1 = un – u + ଵ
ଶ
a(n2-2n+1) 

                Sn-1 = un – u + ଵ
ଶ
an2-an+ଵ

ଶ
a 

      n  
                    Sn

th  = Sn - Sn-1 

                    Sn
th = u + an - ଵ

ଶ
a 

                    Sn
th = u + a(n - ଵ

ଶ
) or u + ଵ

ଶ
a(2n-1) 

4.   “O” 
“O” 
1.5 



“O” 
 
 
 

A.  
       u                  1.5m/s                    0 m/s 
     O                 5 s                              6 s 
     

V = u + at 
     = ‘u’ m/s  
      = ‘-a’ m/s2 () 
     5  V = 1.5 m/s 
                                 1.5 = u + (-a)5 
                                 1.5 = u – 5a …..…(1) 
     6  V = 0 m/s 
                                    0 = u + (-a)6 
                                    0 = u – 6a  
                                    u = 6a ……….…(2) 
     (2)  (1):1.5 = 6a -5a 
                                           a = 1.5 m/s2 
     (2):     u = 6a = 6(1.5) = 9 m/s 
      
     (t = 6 ) 

S = ut + ଵ
ଶ
at2 

                          S = (9)6 + ଵ
ଶ
(-1.5)62  

                              = 54 - (-1.5)18  
                              = 54 - 27  
                           S = 27 m 
        ‘O’  
       u = 0 m/s ;  a = 1.5 m/s2  ;  t = 6 s 
                V = u + at  
                                = 0 + 1.5(6)  
                                = 9 m/s () 
                      V = -9 m/s 
5. 
    
1 


 

1 

 

2  2  
3 

 
3 

 
4  = దూరం

ĥాలం
  4  =

Ȏాš న	భƔంశం

ĥాలం
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6. 
A. 




7.   “a”
t




A.  
 
       “A”  
                u  =  0   m/s 
                       =  a   m/s2 

                  =  S 
      A  B  = t   
        
         V =  u  +  at 
                                  V =   0  +  at 
    V =  at …….(i) 
        
           S =  ut  +  ଵ

ଶ
at2 

S =  0(t)  +  ଵ
ଶ
at2 

S =  ଵ
ଶ
at2 ……(ii) 

       ‘t’  , . 
 
 
      “B”  
      u  =    at   m/s 
                               =  - a   m/s2 

                         =  - S 
      BA= tI  
        
          S =  ut  +  ଵ

ଶ
at2 

                              - S =  (at)(tI) +  ଵ
ଶ
(-a)(tI)2 

                              - S =  attI  -  ଵ
ଶ
a(tI)2 

        (ii)   
           - ଵ

ଶ
at2    =   attI  -  ଵ

ଶ
a(tI)2 

      - ଵ
ଶ
 t2    =     ttI  -  ଵ

ଶ
 (tI)2 

          -   t2    =    2ttI  -  (tI)2 
                          (tI)2 – 2ttI  -  t2  = 0 
        ax2 + bx + c = 0  

                    x = ି௕	±√௕
మିସ௔௖

ଶ௔
 

             tI = ି(ିଶ௧)	±ඥ(ିଶ௧)మିସ(ଵ)(ି௧మ)
ଶ(ଵ)

 

  tI = ଶ௧	±√ସ௧
మାସ௧మ

ଶ
 

tI = ଶ௧	±√଼௧
మ

ଶ
 

tI = ଶ௧	±ଶ√ଶ	௧
ଶ

 

tI = t + √2 t 
          = t  +  tI 

                                            = t + t + √2 t 
                                            = 2t  + √2 t 
            = (2 + √2 ) t 
8.   
100


 
A. 
‘α’ ‘β’    
     ‘t’ 

      ‘a’ = ቀ ஑ஒ

ఈାఉ
ቁ 

     α = 20 cm/s2    ;  β = 100 cm/s2   ; t = ? 
      S = 2.7 Km = 270000 cm 

                         ut + ଵ
ଶ
at2 = 270000 

               0(t) + ଵ
ଶ
ቀ ஑ஒ
ఈାఉ

ቁt2 = 270000 

                   ଵ
ଶ
ቀଶ଴	୶	ଵ଴଴
ଶ଴ାଵ଴଴

ቁt2 = 270000 

                         ቀଵ଴଴଴
ଵଶ଴

ቁt2 = 270000 

                                  t2 = 2700 x 12 = 32400 
                                   t = 180 sec. 
9.   10







 

 A a 

t 
B 

 

 B -a 

t 
A 
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A.             = 50 m 
                 = 250 m 
                    = 10 m/s 
    : 
              = = 50 m 

               = పƔయ�ణ�ంǩన	దూరం
ĸ²Óల¡	ĺÂగం

  = ହ଴
ଵ଴

 = 5 sec. 
    : 
          =  +  
                  = 50 + 250  = 300 m 
               = పƔయ�ణ�ంǩన	దూరం

ĸ²Óల¡	ĺÂగం
  = ଷ଴଴

ଵ଴
= 30sec. 

10. 
”
 
A. 


 
    
. 
                  = దూరం

ĥాలం
 = ହ଴

ଶ
 = 25 ݉ ⁄ݏ  

11. 



 
 
 
 
 
 
A. 


12. 


A. 




	 ௔ܸ௩௘௥௔௚௘ሬሬሬሬሬሬሬሬሬሬሬሬሬሬሬሬሬ⃗   =  పܸ௡௦௧௔௡௧ሬሬሬሬሬሬሬሬሬሬሬሬሬሬሬ⃗  
 
 

13. 


A. 




14. 
 AB
     
 
A. 
A  B 
 ܤܣሬሬሬሬሬ⃗   
 
 
 
15. 


A. 

. 
 
 
 
            
 
 
 
16. 

A. 
. 
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17. 








A.  
 
Distance 
 
 
 
                           
                         Time 
 
    “O” 

OC 
OABD
18. 100


A. Case(i):      = 100 m 

   = 4 s 

               = దూరం
ĥాలం

 = ଵ଴଴
ସ

 = 25 ݉ ⁄ݏ  

    Case(ii):      = 50 m 
    = 2 s 

19. 



A. 2t . 
     ‘t’  
     =  x  = 80 x t = 80t  
     ‘t’  
     =  x  = 40 x t = 40t  
    =80t + 40t =120t  
                      = ‘2t’  
                      =  ǿతŠం	దూరం

ǿతŠం	ĥాలం
  

                                       = ଵଶ଴௧
ଶ௧

 = 60  
 

20. 



A. ‘2s’  
     ‘s’ = 50  
                              = దూరం

వĬ�
 = ௦

ହ଴
  

     ‘s’ = 40  
                              = దూరం

వĬ�
 = ௦

ସ଴
  

       = ‘2s’  
                   = ቀ ௦

ହ଴
+ ௦

ସ଴
ቁ = ଽ௦

ଶ଴଴
  

                      =  ǿతŠం	దూరం
ǿతŠం	ĥాలం

  

                                      = ଶ௦

ቀ వೞమబబቁ
 

                                      = ସ଴଴
ଽ
݉ܭ 44.44 =							 ℎൗ  

21. 10 
10 



A.                    = u  ݉ ⁄ݏ  
              S = 20 m 
                  t = 8 sec 
                   = a ݉ ⁄ݏ 2 

                  S = ut + ଵ
ଶ
at2 

                       20 = u(8) + ଵ
ଶ
a(8)2 

                 20 = 8u + 32a 

                  2u + 8a = 5  …………(1) 
        S = ut + ଵ

ଶ
at2 

                          10 = u(5) + ଵ
ଶ
a(5)2 

                   10 = 5u + ଶହ
ଶ

a 
                      20 = 10u + 25a 

                      2u + 5a = 4  …………(2) 
        (1) – (2) :    3a = 1 

                                     a = ଵ
ଷ
 ݉ ⁄ݏ 2   () 

         (1)  
             2u + 8( ଵ

ଷ
 ) = 5   

                         2u = 5 -  ( ଼
ଷ
 ) 

                         2u = ଻
ଷ
     u = ଻

଺
  ݉ ⁄ݏ   ()  
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         =
               S10 – S8   = ଻

଺
 (10) + ଵ

ଶ
 (ଵ
ଷ
)(10)2 – (20) 

                              = ଷହ
ଷ

 + ହ଴
ଷ

 – (20) 

                              = ଼ହ
ଷ

  – 20 

                              = ଶହ
ଷ

   = 8.33 
22. 
“α” 
“ β” 

“ t”
A.                               B(VB= Vmax) 
        
            
 
                                             
                (VA= 0)              (VC= 0) 
 
                  ‘A’  () = VA = 0 
             ‘B’ ()  = VB = Vmax 

                   ‘C’ ()  = VC = 0 

                   = 
ĺÂగంలĐ	మ�ర ť

ĥాలం
 

     A  B α  
     B  C β    
            α  = ௏ಳି௏ಲ

௧భ
   

   = ௏೘ೌೣି଴
௧భ

  

= ௏೘ೌೣ
௧భ

     

t1  = ௏೘ೌೣ
஑

 

               β  = ௏ಳି௏಴
௧మ

   

= ௏೘ೌೣି଴
௧మ

  

= ௏೘ೌೣ
௧మ

     

t2  = ௏೘ೌೣ
ஒ

 

     
 ‘t’ . 
        t  = t1+ t2 

                = ௏೘ೌೣ
஑

 + ௏೘ೌೣ
ஒ

  

           = Vmaxቀ
ଵ
஑

+ ଵ
ஒ
ቁ  

                 = Vmaxቀ
ఈାఉ
஑ஒ

ቁ 

       Vmax  = ቀ ஑ஒ
ఈାఉ

ቁt 

23. 
10

1 

A.  
       A                  B                                C 
              48                      x 
                    
 
            um = 10 m/s 
            ub = 0 m/s 
               am = 0 m/s2 

                    () 

                 ab = 1 m/s2 

       ‘A’ 
 ‘B’ 
‘C’ .  
       ‘x’ 
 

            S = ut + ଵ
ଶ
at2 

            x = (0)t + ଵ
ଶ
(1)t2 

                                 x = ଵ
ଶ
t2 ………..(1) 

      
      (48+x) 
 
      48 + x = (10)t + ଵ

ଶ
(0)t2 

                            48 + x = 10t ……...(2) 
     (1)  (2) : 48 + ଵ

ଶ
t2 = 10t 

                                          96 + t2 = 20t 
                                 t2 – 20t + 96 = 0 
                          t2 – 12t – 8t + 96 = 0 
                              t(t-12) -8(t-12) = 0 
                                     (t-12)(t-8) = 0 
                            t-12 = 0 (or) t-8 = 0 
                                   t = 12 (or) t = 8 
      8 



 
 

α β 

O A   t1         t2   C   
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24. 








A. 
              = 30 Km/h 

       = 30 + 30 = 60 Km/h 

       = 60 Km 

       = దూరం
ȎాĳÐǖ	ĺÂగం

  

                                                                          = ଺଴
଺଴

 = 1  

       = 30 Km/h 

        = 60 + 30  = 90 Km/h 

        

       () = t1 = దూరం
ȎాĳÐǖ	ĺÂగం

   = ଺଴
ଽ଴

 = ଶ
ଷ
  

        ଶ
ଷ
  

                    = x  = 60 x ଶ
ଷ
 = 20 x 2 = 40 Km 

        ଶ
ଷ
 = 60 – 40 = 20 Km 

         

        ( )  = t2 = ଶ଴
ଽ଴

 = ଶ
ଽ
  = ଶ

ଷమ
  

         ଶ
ଽ
  

             = x = 60 x ଶ
ଽ
 = 20 x ଶ

ଷ
 = ସ଴

ଷ
  Km 

          

                  = t1 + t2 = ଶ
ଷ
 + ଶ

ଽ
 = ଺

ଽ
 + ଶ

ଽ
 = ଼

ଽ
  = ଼

ଷమ
  

          ଼
ଽ
  ( )  

= 20 – ସ଴
ଷ

   = ଶ଴
ଷ

   Km 

          

          () = t3 = 
ଶ଴

ଷൗ
ଽ଴

= ଶ
ଶ଻

  = ଶ
ଷయ

  

           ଶ
ଶ଻

  

       = x = 60 x ଶ
ଶ଻

 = 20 x ଶ
ଽ
 = ସ଴

ଽ
  Km 

 

            ଶ
ଶ଻

      

                                                     = ଶ଴
ଷ

   – ସ଴
ଽ

  = ଺଴
ଽ

   – ସ଴
ଽ

    = ଶ଴
ଽ

   Km 

            

           () = t4   = ଶ଴/ଽ
ଽ଴

 = ଶ
଼ଵ

  =  ଶ
ଷర

  

            ଶ
଼ଵ

  

= x = 60 x ଶ
଼ଵ

 = 20 x ଶ
ଶ଻

 = ସ଴
ଶ଻

  Km 
 

             

  = t3 + t4 = ଶ
ଶ଻

 + ଶ
଼ଵ

 = ଺
଼ଵ

 + ଶ
଼ଵ

 = ଼
଼ଵ

  = ଼
ଷర

   
             

 ଶ
ଷ
 , ଶ

ଷమ
 , ଶ

ଷయ
 , ଶ

ଷర
 … 

            = = 1  

             ‘n’  = 1  

                             			ଶ
ଷ
 + ଶ

ଷమ
  + ଶ

ଷయ
  + ଶ

ଷర
 + ………..+ ଶ

ଷ೙
   = 1 

																										ଶ
ଷ

 [1 + ଵ
ଷ
  + ଵ

ଷమ
  + ଵ

ଷయ
 + ………..+ ଵ

ଷ೙షభ
] = 1 

																																																																				ଶ
ଷ
 [
ଵିቀభయቁ

೙

ଵିభయ
] = 1 

																																																																			ଶ
ଷ
 [
ଵିቀభయቁ

೙

మ
య

] = 1 

																																																																		1− ൬
1
3
൰
௡

= 1 

																																																																										ቀଵ
ଷ
ቁ
௡
 = 0 

                    n =  

.  
 
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